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Sl. No.1
QBID:1555481

Identify the correct preposition to make a meaningful sentence.

Miurror neurons first came light in the 1980s.
(1) m

(2) on

(3) to

(4) for

fFrafafad Smmsil 6k 3% PR & ga T A SH-T TH Tad § 2
(1) Pal-A

(2) HY-BI
(3) HUlqlH - GIRI

(4) g% - B B, DI

1[Option ID=4401]
2[Option ID=4402]
3[Option ID=4403]
4[Option ID=4404]

Sl. No.2
QBID:1555482

Identify the meaning of the underline idiom from the options given :

Radha's brother strained every nerve to enable her to get admission in Medical
college.

(1) talked to everyone

(2) spent a large amount of money
(3) met many people

(4) worked very hard

PRt i s o= 2 -

(1) TR

(2) sqftfarg

(3) frmrs

(4) J=add

1[Option ID=4445]




2[Option ID=4446]
3[Option ID=4447]
4[Option ID=4448]

Sl. No.3
QBID:1555483

Choose the correct option to make a meaningful sentence. His secretary
tive orphanages by today evening.

(1) wall visit

(2) wvisited

(3) will have wisited
(4) will be visiting

Tt 1% 1Y Gl 11 T e Sifoyg

Bl il

. |oEurdt L |2idd & 3FER
Hdle® . | gy d e mar st
EEaIRIEGG] L |97y H ug- arel
qUTIGd IV. |[Uig | U o g aren

=< feu 0 9w edl § 9 Tl 3Tk &1 94 HIfoil:
(1) A-IV, B-IIL C-II, D-I
(2) A-L B-IL, C-II. D-IV
(3) A-IIL B-IV, C-II, D-I
(4) A-IIL B-L. C-IV, D-III

SIS

1[Option ID=4473]
2[Option ID=4474]
3[Option ID=4475]
4[Option ID=4476]

Sl. No.4
QBID:1555484

Identify synonym for the underlined word in the sentence.

Aman's parents are happy that the couple 1s trying to find an amicable solution to
their problems.

(1) just
(2) desperate

(3) durable
(4) harmonious




-9 1 Sy [SU T §: U DY (Assertion A) P &Y H [ATRad 3 al g&RI
FHD DRI (Reason R) & vq o

HfipYT A - T g G 8. F0ifd U8 PRI ¢ |
HRUIR : Tt SBRIT Weg I8l gld @ |

ﬁﬁﬂ?%%ﬁ?ﬂ%%ﬂﬂﬁﬂﬁ%w% U 3R BT T
|

(1) A SRR S ol g AR R AP ol IS §

(2) A SRR G el 8, A1 R. A P! Tel A TR &

3) ATl e afeTr Il e

(4) AGEI el e AfpTR TSI B

1[Option ID=4477]
2[Option ID=4478]
3[Option ID=4479]
4[Option ID=4480]

Sl. No.5
QBID:1555485

Pick out the correctly spelt word.

(1) Conscomtions
(2) Contientions
(3) Cosncemtions
(4) Conscientious

-9 1 Sy ST U §: U DY (Assertion A) P &Y H [aTRad § dl g&RI
FID DRI (Reason R) & vq o

DY A : §R. T, fa%g, 3rurd 31l <21iH & e a0 Juwi| &1
T far ST |

PRUIR ;AT ST & TN 95, IH Y. e e FT e giarg |

JURIGd HYA & Tdld H, Aid [0 70 f[deed] § I 9gl 3R &1 99 I |
(1) ASRRIFATTTE SRR AT TSI TR B

(2) A 3R R G IO E, A R, A BT T8 ARST 61 ©

(3) ATTE APIR ITAT

4) AT e AP RTTS

1[Option ID=4481]
2[Option ID=4482]




3[Option ID=4483]
4[Option ID=4484]

Sl. No.6
QBID:1555486

Identify the correct active voice for the sentence given below :

You are requested not to switch on the bulb.

(1) Please not switch on the bulb
(2) Switch on the bulb.

(3) Please don't switch on the bulb
(4) Don't switch on the bulb.

frafifea & w8 T oW & -
A TE T
B.Z9 d9
C. i dig

D. o8 U%%

E. 3919 Uaaig

A GT 917 fdehed] H W HEl 39 &l I9- hilaIg:
(1) A.B3RC
(2) B.C3RD
(3) B.C#RE
(4) C.D3RE

1[Option ID=4485]
2[Option ID=4486]
3[Option ID=4487]
4[Option ID=4488]

Sl. No.7
QBID:1555487

Identify the correct direct speech for the sentence given below

The Forbes told that it was not responsible for any mformation published m the
magazine.

The Forbes said "It was not responsible for any mformation published m the

(1) s
magazme".

The Forbes said. "We are not responsible for any nformation published in the

(2) = LL]
magazime .

(3)




The Forbes says, "It is not responsible for any information published m the
magazine".

The Forbes says, "We are not responsible for any information published m the
magazine".

it gl @ 3fa sagar soafug S

(4)

A S E

B %4 a1 ¥

C. s e

D. ¥®9® geuH Wl U

E. 59 §Wed &

e fRw 9w faehedl & & el SOY &l T34 Hifa:
1) A.B,.C.D.E

) A,C,D,E. A

3) C.D.E.A.B

4) EED.C.A.B

1[Option ID=4489]

2[Option ID=4490]

3[Option ID=4491]
4[Option ID=4492]

Sl. No.8
QBID:1555488

Give below are four sentences in jumbled order. Select the option that gives their
correct order.

A. The structure of the building depends on the purpose for which it 1s erected.

B. People who design a building keep in mind the purpose for which it is being
erected.

C. Humans erect buildings for various purposes.

D. One building may require strength. another may require comfort, and a third
may require space.

Choose the correct answer from the options given below :
1) C.D.A.B
2) C.LA.D.B
3) B.C.D. A




4) D.C.B.A

-1 Gl Y ST U §: U SUHYT (Assertion A) P &Y AREd & ol G801
IHD BRI (Reason R) Houh:

HAUBUT A - 341G TAT 3R FoR T HeTa] &1 Y T 81 § - I |
BRUIR : G GgTari & A fiF g |

SWRIF DY & el U, 719 S T fdeedi ¥ ¥ gad Iuged Ik &l 994
P |

(1) A SRR M HEl € IR R, A ST e AT &

(2) A SRR GHI TSI E AT R, A T UE o el §

(3) ATEIE APIR TR R R

) AT TRt AFTIRTE R

1[Option ID=4493]
2[Option ID=4494]
3[Option ID=4495]
4[Option ID=4496]

Si. No.9
QBID:1555489

From among the four options given. choose the one which 15 a grammatically
correct sentence.

(1) Now, I wants to noticing the things I never saws when I was too busy working.
(2) Now. I want to notice the things I never saw when I was too busy working.
(3) Now, I wanting to noticed the things I never saw when I was to busy working.

(4) Now. I wanted to notice the things I never seen when I was too busys work.

ffeiEa # 9 F ¥ 2eg 39 & SHE § ?
A i
B. arfeHl
C. fmm
D. Tl
E. QIfEAT

A v v ool & & 9L 3 T 939 hifaTw:
(1) A, B3R C
(2) FTAA.B 3R D




(3) FAAB. C 3R D
(4) FEEC.D IR E

1[Option ID=4497]
2[Option ID=4498]
3[Option ID=4499]
4[Option ID=4500]

SI. No.10
QBID:15554810

Find out which part of the sentence has an error. If there is no error, mark
option 4.

(1) As the fibers of the words are woven into the exquisite tapestry.
(2) of a story and the deeps of a hero are portrayed m those words
(3) The words bring forth those portrayed deeds.

(4) No Error

T A sH TP I ST o E a9 & 2

A o
B. foree
C. TER
D. Fifeard
E. Sefeerd

A fow av faehedl # & Oad 3UYE IdL &l I HITIT:
(1) HaA A, B 3R C
(2) HaAA, C IR E
(3) #a@ B. C 3R D
(4) $30C,D R E

1[Option ID=4405]
2[Option ID=4406]
3[Option ID=4407]
4[Option ID=4408]

Sl. No.11
QBID:15554811

In 1985, the Government of India launched a special vaccination programme
called :

(1) Universal Immunization Programme

(2) Indian Immumization Drive
(3) Save, Child. Save Country




(4) Immunization for Secure Future

T 1085 T YRd WEHR 1 UH (G99 Sa1au drideH URe f&ar forgsT 3
o -

(1) Fdoardl HicR&U HIIHH (GfHada SRS W)
(2) YR Ui Mg (3o SRAgeieH giga)

(3) F= g, SR I3

(4) i&rd Hids & o UfoRem GRS DR 900k TER)

1[Option ID=4409]
2[Option ID=4410]
3[Option ID=4411]
4[Option ID=4412]

Sl. No.12
QBID:15554812

Match List I with List IT

List-I List - I1
Indian Nationals Magsaysay winners under specific category
A Verghese Kurien [. Government Service

B. Boobli Geogre Verghese |[I. Emergent Leadership
IC. James Michale Lyndoh  [III. Journalism & Creative Arts
. Kulande: Franics [V. Community Leadership

Choose the correct answer from the options given below :
(1) A-(I). B-(II). C-(III). D~(IV)
(2) A-(ID). B(I). C-(IV). D-(III)
(3) A-(IV). B-{III). C-(I). D-(II)
(a) A-(III). B-(IV). C~(II). D~(I)

I 1S 1Y Gl 11 T e Sifey

T - 1 (R ATTYe) |1 - 11 (g Soft R siata #ar faera a9
A e pigH L DRI Hdl

B. §dci| ol gillal I1. STl Hdd

C. S AEdd forsle |11 TSR AR oIS el

D. Bdlcs Wiay IV. GHGIA® Hdd

= feu U fapedl § T el 3R &l 90+ Hifelt:
(1) A-(D). B-(II). C-(IIT), D~(IV)
(2) A~(ID). B-(I). C-(IV). D-(IIT)
(3) A-(IV). B-(IIT). C~(I). D-(IT)




(4) A-(III). B-(IV). C-(II). D-(I)

1[Option ID=4413]
2[Option ID=4414]
3[Option ID=4415]
4[Option ID=4416]

Sl. No.13
QBID:15554813

Match List - I wit

List - I
Type Hydrogen

A. Green

B. Blue

D. Grey

D. Pink

h List - IT

List - IT
Explanation
I. Generated through electrolysis powered
by nuclear energy
I1. Generated from natural gas but the
carbon dioxide is not captured.
I1I. Generated by splitting natural gas by
SMR and ATR method, Carbon dioxide 1s
captured.
I'V. Generated by electrolysis of water
using renewable energy.

Choose the correct answer from the options given below :

(1) A-(II), B-(I),

C-(IIT). D-(IV)

(2) A~(IV). B=(III). C~(II). D-(I)
(3) A-(IIT), B-(IV), C-~(I), D-~(II)

(a) A~(I). B=(II), C~(IV), D-(III)
Il 1S 1Y Gl 11 DT e Sifoy
-ﬁ_‘ﬁﬁ; BT T - 1 @mE)
A B 1. TRHTY Soll gR1 idd Wad fdegd-310ge- ¥ 344
11 WS id® 19 U 34 tiich Bla- I3 HRES Bl
A Il el el
1. TH.UA. . 3R U21.3R. f5ftm! gR1 nidla® 19
D. IR grmﬁgrrﬁlﬁaﬁdm HIa- I3 HFSS DI TIg0
|
IV, TaI@0g FHal &b 3ULNT 4 ofd @l [dggd-2uded
D e g I

e feu U fapedl § T el 3R &l 90+ Difulu:

(1) A-(ID). B-(I).
(2) A-(IV). B-(II

C-(111). D-(IV)
1), C-(II). D-(I)

(3) A-(III). B-(IV). C-(I). D-(II)




(4) A-(I). B-(II). C-(IV). D-(III)

1[Option ID=4417]
2[Option ID=4418]
3[Option ID=4419]
4[Option ID=4420]

Sl. No.14
QBID:15554814

Cartographers are those who make :
(1) draw maps

(2) models of Divine Figures

(3) Snow men

(4) Google Trike

HICTITER &1 &1 @ 2

(1) HHEEE

(2) g IRAl & wfiey|

(3) §Hid 7G|

(4) Tl |

1[Option ID=4421]
2[Option ID=4422]
3[Option ID=4423]
4[Option ID=4424]

SI. No.15
QBID:15554815

In 2003, space shuttle Columbia which carried Indian origin astronaut Kalpana
Chawla, an Israch and five other members dismtegrated upon its re-entry to the
Earth's atmosphere.

Name the Israch astronaut.
(1) Micheal Anderson

(2) Ilan Ramon

(3) Laurel Clark

(4) Dan's Brown

T 2003 . WY Y DI HRA ol Bi e Sed-r Jraa, U
ORI 3R UTd 3= Ta&| Pl QbR SR § 115 &f | 9109 3{1d 997 gl &
agHSd H UH:H0Y HXd 9A0 a5 [q9ied 61 715 | SoRIgdl SiaRE-ar & A/
sy |

(1) HI5Hd TS

(2) S HHA

(3) NG TP

(4) Sfa9 3




1[Option ID=4425]
2[Option ID=4426]
3[Option ID=4427]
4[Option ID=4428]

Sl. No.16
QBID:15554816

Find the next alphabets - VULHI, TSMJK., RQNLM. POONO.-----
(1) NMPPQ

(2) NMOPQ

(3) ONMMP

(4) KLOMP

fFafafEs g@a & o F 3R Tgan-¢ - VULHI, TSMJK, RQNLM., POONO. -----
(1) NMPPQ

(2) NMOPQ

(3) ONMMP

(4) KLOMP

1[Option ID=4429]

2[Option ID=4430]

3[Option ID=4431]
4[Option ID=4432]

Sl. No.17
QBID:15554817

Aman, Balwinder, Chetan, Mahesh, Pradeep. Deepti are standing in a circle
facing centre. Balwinder 1s in between Deepti and Chetan. Aman 1s in between
Pradeep and Mahesh. Deepti is to the left of Mahesh. Who is between
Balwmder and Mahesh ?

(1) Deepti

(2) Chetan

(3) Aman

(4) Pradeep

3, Fefdex, 904, Fes, WY AR S i qu H WS § SR SAST HE 90 & &% @1 iR &
|gafdR dfg iR IaT s dE e | 3T wWEiN s ey s dud 2 | 729 & a5 3R diftg
L CEl I Tl e | e A

(1) i

(2) ==

(3) HA

(4) wem

1[Option ID=4433]

2[Option ID=4434]

3[Option ID=4435]
4[Option ID=4436]

Sl. No.18
QBID:15554818




Which does not belong with the others ?
(1) Contents

(1) Chapter

(u1) Bibliography

(1v) Research Thesis

(1) Contents

(2) Chapter

(3) Research Thesis

(4) Bibliography

Fafafed § § -9 v 99 weal § 79 6] @ ?

(i) Fawa-3t

(ii) 2=mg

(ii1) TY-=
(iv) TMY-HEHY
(1) Togg-g=
(2) O™

(3) =Ny gEw

(4) -

1[Option ID=4437]
2[Option ID=4438]
3[Option ID=4439]
4[Option ID=4440]

Sl. No.19
QBID:15554819

Meena lives in Mumbai and has a house on the western beach. Her younger
cousin Rakesh lives m a small town near Delhi. Rakesh is a frequent visitor to
Mumbai and stays with Meena. Meena has visited Rakesh's house only once in
the past 3 years.

(1) Rakesh likes Meena more than Meena likes Rakesh.

(1) Meena is elder to Rakesh.

(111) Meena does not like small towns.

(iv) Rakesh wants to buy house on the beach.




(1) Only (i)

(2) Ounly (u)

(3) Only (1)

(4) Ounly (1) and (1v)

1 g § TEdl 8 o ufiel 9ggae W OO Us W B | 3US] Se1 99 UTs UHN faee
& U1 Ud BIc TeX H 5l ¢ | UHE Segl-uedl gy o1al & SR A1 & 91y Teal & | s
A A e F IR TSN S WS & |

(1) o= =1 Thw &1 gue Fedl § SEE ofiE Uew Hi91 & uhE S §
(i) FAT UEM A TS 7 |

(iii) H1 B BT TR T AL |

(iv) THT FE-d€ TR T TS TR § |

(1) Fad (i)

(2) Had (i)

(3) Had (iii)

(4) Faa (i) R (iv)

1[Option ID=4441]
2[Option ID=4442]
3[Option ID=4443]
4[Option ID=4444]

Sl. No.20
QBID:15554820

Find the missing number.,

7. 8. 153471, 132,
(1) 218
(2) 223
(3) 191
(4) 221

Fafafed dem A quem e sE S e ?

7,8,15,34, 71,132,
(1) 218
(2) 223
(3) 191
(4) 221

1[Option ID=4449]
2[Option ID=4450]




3[Option ID=4451]
4[Option ID=4452]

Sl. No.21
QBID:15554821

Arrange the followmg fractions (A-E) in their ascending order.
A.5/8

B 712

C. 13/16

D. 16/29

E. 3/4

Choose the correct answer from the options given below :
1) B.E.A.D.C
2) D.B.AE. C
3) C.A.B.E.D
() D.B.A.C.E

fafefaa fisf &1 2Re &9 & wsd |

A.5/8

B. 712

C. 13/16

D. 16/29

E. 3/4

A 6T 9w [ehedl 3 T HEL 3Aal 9dd hilelq:
1) B.E.A.D.C

2) D.B.A.E. C

3) C.A.B.E.D
@) D.B.A.C.E

1[Option ID=4453]
2[Option ID=4454]
3[Option ID=4455]
4[Option ID=4456]

Sl. No.22
QBID:15554822




A mixture contamns alcohol and water m the ratio 4:3. If 5 liters of water 15 added
to the mixture, the ratio becomes 4:5. The quantity of alcohol in the given
mixture (in liters) 1s :

(1) 12

(2) 10

(3) 14

(4) 11

U 0 F sehigd SR U 4:3 & Srurd | B e § | ol e F § diex o SR
foren f&an oia & g% SruTd 4:5 &1 8 oA © | 3w e fas F srewiga @1 A @) §)
fea & 2

(1) 12

(2) 10

(3) 14

(4) 11

1[Option ID=4457]

2[Option ID=4458]

3[Option ID=4459]
4[Option ID=4460]

SI. No.23
QBID:15554823

The value of 31574126 3.198 is approximately equal to :
63 972x 2835121

(1) 0.0023

(2) 0.023

(3) 0.23

(4) 2.3

3.157x4126x 3.198 S AR FERET A4 Fadan & Fecg ?
63.972% 2835.121

(1) 0.0023

(2) 0.023

(3) 0.23

(4) 2.3

1[Option ID=4461]
2[Option ID=4462]
3[Option ID=4463]
4[Option ID=4464]

Sl. No.24
QBID:15554824
Hfx+y):(x-y)=11:1, then 5x+3y

v

X2
(1) 45/4
(2) 4/45
(3) -45/4




(4) -4/45
ﬂ%(x-kyj:(x-}r):ll:1%?1_"[5;;4_31,- 7

..-

b ey
(1) 45/4
(2) 4/45
(3) -45/4
(4) -4/45
1[Option ID=4465]
2[Option ID=4466]

3[Option ID=4467]
4[Option ID=4468]

Sl. No.25
QBID:15554825

If the difference between compound and simple mterest on a certam sum of
money for 3 years at 2% per annum 1s ¥ 604, then what 1s the sum ?

(1) T 5.00.000
(2) = 4.50.000
(3) T 5.10.000
(4) T 4.40.000

afg fFht aff = 3 a9l & 2% 1t =09 91 &% | WYR0 O SR Twgls O & 8" &1
HR F 604 % O 95 U BT R 2

(1) ¥ 5.00.000
(2) ¥ 4.50.000
(3) ¥ 5.10.000
(4) T 4.40.000

1[Option ID=4469]
2[Option ID=4470]
3[Option ID=4471]
4[Option ID=4472]

SI. No.26
QBID:1875381

The feasible value of the current source I in the following circuit 1s (Assume that
60 V source 1s absorbing power)

i)
20V
60 V
» ¢

12V
S

(1) 10A
(2) 13 A




3) 15A
(4) 18 A

few TTu uftay & faegd uwr 9id 1 &1 Sifad 91 1d Sifre (7 difsg o v
&1 HId Qi SHINT PIET5 1)

FeR
v
60 V
» 9
12V

&)

(1) 10A

(2) 13A

3) 15A

(4) 18A

1[Option ID=4501]
2[Option ID=4502]
3[Option ID=4503]
4[Option ID=4504]

SI. No.27
QBID:1875382

For the following circuit if R, =250, R, =750

Cﬂ ;Rg 1Al§33

The value of resistance R, is
1) 3Q
(2) 25,
(3) 50,
(4) 5

SO O
ol-e)




(4) :

1[Option ID=4545]
2[Option ID=4546]
3[Option ID=4547]
4[Option ID=4548]

Sl. No.28
QBID:1875383

The value of e; in the following figure 1s

20
Wit Mty
441
-
12V 103e 320
_‘_
(1) 2V
(2) 43V
3) 4V
(4) BV
feumu = He STEH AIEHT 2
24}
m Wl’
44
————
i2v—= 413y %1‘-1
_‘_
(1) 2V
(2) 43V

3) 4V




(4) 8V

1[Option ID=4589]
2[Option ID=4590]
3[Option ID=4591]
4[Option ID=4592]

Sl. No.29
QBID:1875384

The voltage Vj in the following circuit is

(4) —-10V

4k 3V,

(1) 10V

(2) 20V

(3) 20V

(4) -10V
1[Option ID=4633]
2[Option ID=4634]

3[Option ID=4635]
4[Option ID=4636]

=

Sl. No.30
QBID:1875385

The value of V, in the following circuit.

(1) =24V
(2) 48V




(3) 24V
(4) 48V

feu MY uiRgy § v &1 O 91 g1 2

214}

——AAN— A ——
T 0
1 L
12V _J_I 20 :\'x

(1) 24V
(2) 48V
(3) 24V
(4) 48V

AT

1[Option ID=4677]
2[Option ID=4678]
3[Option ID=4679]
4[Option ID=4680]

Sl. No.31
QBID:1875386

The maximum power that can be transferred to the load resistor R} from the

voltage source in the following figure is

Ay
100142

10V __ SRy

1) 1I'W
(2) 10W
(3) 0.25W
4) 0.5 W

T U giees (fava) Hid 8 ars WicRiY R, &I [t iftan faggd &
BT 3idRl fobg o gadr g 2

Ay
100141

10V _~ SRy

1) 1'W
(2) 10W
(3) 0.25W
(4) 0.5 W




1[Option ID=4721]
2[Option ID=4722]
3[Option ID=4723]
4[Option ID=4724]

Sl. No.32
QBID:1875387

Avector 4 issolenoidal if its
(1) Divergence is zero

(2) Gradient 1s zero

(3) Divergence is non-zero

(4) Gradient 1s non-zero

0o HieW A IRATADT Dol € Tie SHDT
(1) ITRI A B

(2) FAUdI Y&

(3) S{UERUI Y ol § |

(4) YU Y 761 6 |

1[Option ID=4765]
2[Option ID=4766]
3[Option ID=4767]
4[Option ID=4768]

Sl. No.33
QBID:1875388

The condition that the vector , . should be the gradient of a scaler function 1s
(1) va=o

(2) va-=o

(3) vua=n

(4) VuA-VI.A=0

frg fufg d ofcw A . 9w Ba® &1 Yaudr axidig 2

(1) v.A=0

(2) va=0

(3) VxA =0

(4) VxA-V2.A=0
1[Option ID=4793]
2[Option ID=4794]

3[Option ID=4795]
4[Option ID=4796]

Sl. No.34
QBID:1875389




The eigen values of the matrix

1 & 0
0 1 1
0 1 1
Are
ay 1.1,2
(2) 0.1.2
3) 2.2.0
4) 2.2.1
feu T siregg & SifAaeaire HF J1d Bifog
I & ©
e 1 1
0 1 1

ag |

() 1.1.2
(2 0.1.2
3) 2.2,0
4) 2.2.1

1[Option ID=4797]
2[Option ID=4798]
3[Option ID=4799]
4[Option ID=4800]

Sl. No.35
QBID:18753810

The rank of the matrix

P
15
(1)
(2)
(3)
(4)

[ =
'

4=
.

ey o =




(4) 3

1[Option ID=4505]
2[Option ID=4506]
3[Option ID=4507]
4[Option ID=4508]

Sl. No.36
QBID:18753811

Grven below are two statements ;

Statement I : Matrix a r n} is Hermitian

Statement II : Matrix =[_U G] 1s Hermitian

In the light of the above statements. choose the most appropriate answer from the
options given below

(1) Both. Statement [ and Statement II are correct
(2) Both. Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

TH I FyT feumu E:

0
TY-1 : 3T A =

;
i 0

]WEWSHE‘E%I

]@Eﬁfﬁﬂ?&rﬁﬁ%

i
i 0

0
BYA-II : B B:[

SWRId DY & 3Mals H. 719 S Y faecal § 9 9a Iugad 3Tk &l 994
PifoTu:

(1) HYF-I 3R HYF-I1 &HI 93 ©

(2) PYA-I R HYA-I GHI T ©




(3) FHYA.1 T ©, Al HYF-11 39 ©
(4) PHYF-I 3 ¢, A FYF-I T §

1[Option ID=4509]
2[Option ID=4510]
3[Option ID=4511]
4[Option ID=4512]

Sl. No.37
QBID:18753812

Which of the following function of complex variable z =x + 1 y is analytic.

A. k|

B.R. 7
C.log =z

D.z

E. .z}

Choose the most appropriate answer from the options given below :
(1) AandB only

(2) E only

(3) CandD only

(4) AandC only

FEfRId F Y R z=x+ | y I B I Ha- a8 o

-4 48 U fapetl # ¥ 9ad SUgad SR &I 9094 ST
(1) FIT A HRB

(2) HITE

(3) Pae C AR D




(4) Had A AR C

1[Option ID=4513]
2[Option ID=4514]
3[Option ID=4515]
4[Option ID=4516]

Sl. No.38
QBID:18753813

Give below are two statements : If the line integral of a vector field depends only
upon the co-ordinates of the two points in the field and independent of actual path
taken between them. then the field 1s said to be

Statement [ : Curled

Statement [I : Conservative

In the light of the above statements. choose the most appropriate answer from
the options given below
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

HYA-1 : TS (! Tl 89 BT IGP GHISIS Had &4 P al (943l & He¥D
R 1R BT § 3R I 99 & arafd®e 9y W Fyk 78 oar 99 fear mn
T T Feardl g 2

$Ed (Js)
PYA-II : Tt

SWRIFd DY & eie U, 1 fSU T fdeedl ¥ ¥ 9ad Iugead 3O &l 9g-
DIfoIE:

(1) HYF-I 3R HYA-11 21 Tol &

(2) PYA-I 3R HYF-I1 SHI TTad &

(3) FY-1 Tel ©. Qi HYF-I1 7Tad &

(4) HY-17Ad g, Afp] PY-1 Tl ©

1[Option ID=4517]
2[Option ID=4518]
3[Option ID=4519]
4[Option ID=4520]

Sl. No.39
QBID:18753814

If . 1s the position vector of any point on the surface of a cube of side L. then the

surface integral || rds is




(1) 0
(2) =
3)
(4)
afe L Yol & 99 &1 Jas . o4l fag ot Rufa ofew » g dt Sua gas
TSI [ rds AT

(1) 0

(2) =

3)
(4)

Lad

Taa

L
L

-2

| ]

Lad

L]

P2

L
L

| (]

1[Option ID=4521]
2[Option ID=4522]
3[Option ID=4523]
4[Option ID=4524]

Sl. No.40
QBID:18753815

The condition that a n-type enhancement MOSFET works in saturation region 1s :
(1) Applied gate voltage = threshold voltage

(2) Drain to source voltage = Gate to source voltage threshold voltage
(3) Gate voltage=1V

(4) None of the above

Fraffad fRuf o n-190 HafE MOSFET Sqi &89 & &1 axal @ |
(1) T 75 §R (1<) favd > dgdl fava

(2) 3fYdTe ¥ HId fd¥d = R T I faya dgdif favg

(3) gRigya=1v

(4) Hig i T8l

1[Option ID=4525]
2[Option ID=4526]
3[Option ID=4527]
4[Option ID=4528]

Sl. No.41
QBID:18753816

The preferred material (s) for high temperature applicate
A. Silicon (S1)
B. Germanium ( Ge)
C. Silicon carbide (S1C)
D. Galium Nitride (GaN)
E. Carbon (C)
Choose the correct answer from the options given below :




(1) Aonly

(2) AandB only
(3) AandC only
(4) CandD only

3P ATHM (W) warT & foe o gerdf Fafafaa g
A. THfeT T (s1)

B. SRHMTH (Ge)

c. it = FEiEs (sic)

D. 7o H ATSCI5S (GaN)

E. ®I& (C)

i f4u U fasedl & 9§ Ul 3tk &1 99 Bifelt:
(1) FHad A

(2) Had A 3IRB

(3) PHad AR C

(4) FHadC 3R D

1[Option ID=4529]
2[Option ID=4530]
3[Option ID=4531]
4[Option ID=4532]

Sl. No.42
QBID:18753817

The resistivity of a uniformly doped n-type silicon sample 1s 0.5 Q cm. If the
electron mobility (u,) = 1250 cm?/vs. the donor impurity concentration (Ng) n the
sample 1s

(1) 2x10'%/cm?

(2) 1x10%/em’

(3) 2.5x 10/ cm’

4 5x10 /em?

TS T AT o-9%0 e ufieef of ufoRiftedr 0.5 96t § 13
Bﬂﬁﬂﬁaﬁﬁ Tfaeiedn (pg) = 1250 emZ/vs B, T8 39®1 ardl WTW
e 1y wfeest & Fafarad g -

(1) 21016, GHP

(2) 1«10, gHP




(3) 2.5« 1015/ AP
4 51015/ HP

1[Option ID=4533]
2[Option ID=4534]
3[Option ID=4535]
4[Option ID=4536]

Sl. No.43
QBID:18753818

The longest wavelength that can be absorbed by Si. which has a bandgap of 1.12
eV 1s 1.1 um. If the longest wavelength that can be absorbed by another material 1s
0.87 um. then the bandgap of this material 13

(1) 1.416eV

(2) 0.886eV

(3) 0.854¢eV

(4) 0.706 eV

a9 ddt aeeef off si gRT a<ifd gt & 9ul o ufes (@) siava
1.12 eVE HTAM 1.1 pm 8. TS SR Ui gR1 Ta9 el aeiiyd axmesd &1
14 0.87 pm%k_‘an‘%ﬁ . }WW@W?

(1) 1.416 &V

(2) 0.886eV

(3) 0.854 eV

(4) 0.706 eV

1[Option ID=4537]

2[Option ID=4538]

3[Option ID=4539]
4[Option ID=4540]

Sl. No.44
QBID:18753819




Determune the de resistance levels for the diode of figure below at

(a) Ip =2 mA (low level)
(b) Ip = 20 mA (high level)

(c) Vp =—10 V (reverse — bias)

Iy (mA)
30 -+ (Silca)
P e )’
10 = '
10V 24---- :
[ 0 05 08 —
D
-1 MA

(1) 2509, 40Q and 10 MQ
(2) 15092, 402 and 10 MQ
(3) 2509, 20Q and 8 MQ
(4) 2009, 40Q and 8 MQ

fu e o & 3118 & de UlRIY & &R F1d SIfoT Al
(a) Ip =2 mA (MA TR )

(b) Ip =20 mA(SH KR W)

(c) Vp=-10 V (3ehH HTd TR)

Iy (mA) _
30 <+ (Sileca)

P

10 -

10V 2+4--- -
l 0 0.
(1) 250Q. 40Q 31 10 MQ
(2) 1509, 409 3 10 MQ
(3) 250Q. 20Q 3R 8 MQ




(4) 200Q. 40Q 3R 8 MQ

1[Option ID=4541]
2[Option ID=4542]
3[Option ID=4543]
4[Option ID=4544]

SI. No.45
QBID:18753820

Determine the current I,. I, and I, for the network given below.

3 “ﬁz I 4
Dl - |
=20V D,
o D2
RE-Sﬁku'

(1) 1;=025mA, I, =3.6 mA, I, =3.11 mA

2) I; =0212mA. I, =3.32 mA, [ =3.11 mA
3) I;=0112mA, I, =332 mA, I, =3.11 mA
(4) ;= 0212 mA. I, =332 mA, [ =2.11 mA

[&u U uikuy I fdggd 4RI 1,. 1, 3R 1; &1 5 J1d S|

(1) 1 =025mA. I, =3.6 mA, Ip; =3.11 mA
(2) ;=0212mA. I, =332 mA. Ip> =3.11 mA
3) [ =0112mA,. I, =332 mA, Ip; =3.11 mA
(4) ; =0212mA. I, =332 mA. Ip> =2.11 mA
1[Option ID=4549]

2[Option ID=4550]

3[Option ID=4551]
4[Option ID=4552]

SI. No.46
QBID:18753821




Match List I with List IT

ListI List 1T

A |Current gain L Low

B. |Voltage gain 11 Highest

C. |Input resistance III.  ||Just less than units
D. ||Output resistance IV. |[High

Choose the correct answer from the options given below :
(1) A-IV. B-III. C-I. D-II
(2) A-II. B-I. C-III. D-IV
(3) A-IIL B-IV. C-I. D-II
(4) A-L B-III C-II. D-IV

1 1S 1Y Yol 11 1 e Pifore:

LEll gl 11

A |faegd urT afe L "

B. |(faya dfél I [3=9dg

c. |FEgutRy M. 0% 9 US| &
D. |\ ufaRry . 3"

- fau 77T fawedl | 1 el SR &1 904 Difo:
(1) A-IV. B-III. C-I. D-II

(2) A-IL B-I. C-III. D-IV

(3) A-IIL B-IV. C-I. D-II

(4) A-I B-IIL. C-II. D-IV

1[Option ID=4553]

2[Option ID=4554]

3[Option ID=4555]
4[Option ID=4556]

Sl. No.47
QBID:18753822




Find R and Ry 1n the circwit of figure given, 1f Vo = 10V and Vgg = 5V, so that
Ic =10 mA, Vg = 5V. A silicon transistor with p = 100, Vgg = 0.7 V and neglect
reverse saturations current.

I
C L—
Jv - R'E |
v*r"‘!' .y I(.-I-"' -
B \l i
Vgp=5V — k

(1) Re=50Q. Rg=43kQ

(2) Re=500 9. Rg=43kO

(3) R =150 Q. Rg=34kQ

(4) Re=525Q. Rg=33kQ

f&u 70 g9y T R~ 3R Ry &1 T JTd DI TG Ve = 10 V. Vgg = 5V dlIdD
Ic=10mA, Vg = 5V U@ 3R Rfdei iforex foRie p = 100 3R Vgg = 0.7
V § 3D Ioh e Iqfd fagyd urT Sdgefia 31

r

I¢
LR, | +
— Vpn=10V
Ry 1€ T Y
St . [ oy
B M
Vgg=5V — 5

(1) Rc=50Q. Rg=43kQ
(2) Rc=5009Q. Rg=43kQ
(3) Re=150Q. Rg=34kQ
(4) Rc=525Q. Rg=33kQ

1[Option ID=4557]
2[Option ID=4558]
3[Option ID=4559]
4[Option ID=4560]

Sl. No.48
QBID:18753823




Give below are two statements :
Statement I : The MOSFET can be used as a voltage controlled capacitor.
Statement II : The channel length modulation phenomena in a MOSFET 1s due
to increase drain voltage.
In the light of the above statements. choose the most appropriate answer from

the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement IT 1s correct

TRy fermE
®Y-1 : MOSFET &1 Wl Ue faye Fafad duifar & wu & fear s aear g |

@YH-11 : MOSFET H =d q%dls HIga- URbeH 3Udfg fayd & 9g- d sldl o
|

JURIad HYA F fdi® |, 1 S0 70 faeedl 8 T T8l Ik &1 99 DIfIe:
(1) FYA-I 3R FYA-II S T ©

(2) HYA.I 3R HYA-I GF| 38 §

(3) HYF-1 T §. AP HYA-II 3T 3

(4) TYF-I 3 3, Tl HYA-11 9 ©

1[Option ID=4561]
2[Option ID=4562]
3[Option ID=4563]
4[Option ID=4564]

Sl. No.49
QBID:18753824

For the following circuit consider Vgg = 0.7 V and p to be large. Find I~ and Vg

(1) IC =1 mA. RTEE =47V
(2) Ic=05mA. VCE=3.75V
3) IC =1 mA. RTEE =25V




(4) Ic=05mA. Ve =39V

f&T U uRkuy T 5w Vg = 0.7 V 3R p ST T 31i8® (F81) B I 3R
Vg @1 HH A BT |

5V
| 2.2k
4Kk() HE _____ 2
.' > Tce
- N -
et 2 gmou

(1) Ic=1mA, Vg =47V

2) Ig=05mA, VCE=3.75V
3) Ic=1mA, Vg =25V

@) Ic=05mA, Vg =39V
1[Option ID=4565]

2[Option ID=4566]

3[Option ID=4567]
4[Option ID=4568]

Sl. No.50
QBID:18753825

For an npn transistor. if the electron current injected from the emitter 1s 2 pA and
total base region recombination current 1s 30 nA. the base transport factor is

(1) 0.980

(2) 0.985

(3) 0.990

(4) 0.995

ud npnmﬁqﬁwmﬁﬁw\ﬁﬁwwwmz pA 3R
T oY &7 & JHaiid fdeqd YRT ST A 30 nA 3. 16 89 ST 9ed &1
o7 1 g 2

(1) 0.980

(2) 0.985

(3) 0.990

(4) 0.995

1[Option ID=4569]

2[Option ID=4570]

3[Option ID=4571]
4[Option ID=4572]

Sl. No.51
QBID:18753826

MOSFET can be used as a




(1) Current controlled capacitor
(2) Voltage controlled capacitor

(3) Current controlled inductor
(4) Voltage controlled inductor

MOSFET &1 3udn Fafa@a A A fpa =udgiars 2
(1) fgggd YR g0 g

(2) fayq g gyl

(3) faqgd urr g0 RS

(4) fayq (ga0 RS

1[Option ID=4573]
2[Option ID=4574]
3[Option ID=4575]
4[Option ID=4576]

Sl. No.52
QBID:18753827

Calculate the efficiency of a transformer coupled class A amplifier for a supply of
12 V and output of 12 V.

(1) 25%
(2) 55%
(3) 50%
(4) 45%

U YR g 9ult A & Jatie &1 12 V & SR 3R 12 V & 18 & fou
EERIRIGE S

(1) 25%
(2) 55%
(3) 50%
(4) 45%

1[Option ID=4577]
2[Option ID=4578]
3[Option ID=4579]
4[Option ID=4580]

Sl. No.53
QBID:18753828

The Early — Effect in a BJT is caused by
(1) Fast—turn—on

(2) Fast — turn — off

(3) Large collector — base reverse bias

(4) Large emitter — base forward bias

frafefaa § ¥ f5gs g1 BIT H Sieg-uH1a (3fel 3fad) BlaT g |




) a9 -2 - A
(2) d97-TH - 3ATH
(3) g3 HUIES - 99 Uy argiid
(4) T3 IO - 9 37 IRIT

1[Option ID=4581]
2[Option ID=4582]
3[Option ID=4583]
4[Option ID=4584]

Sl. No.54
QBID:18753829

Match List I with List IT : Match logic gates to their equivalent

List-I List-II

2= HE) o

=D~ P >

B Ha—

Choose the correct answer from the options given below :
(1) A-IL B-IV. C-I. D-III
(2) A-IV. B-II. C-I. D-III
(3) A-IL. B-IV. C-III. D-I
(4) A-IV. B-II. C-III. D-I




Il 1S 1Y Gl 11 D1 THeH Difore:
dlfeies 71¢ ®T 39 FHGe & 1Y i o3

i 1 Tl 11

22— S o
—D— ) >
HLo— pE) >

i fGu 7T fas el & 9 9gl 3w &1 944 Sifolu:
(1) A-IL B-IV. C-I, D-III
(2) A-IV. B-IL C-I, D-III
(3) A-IL B-IV, C-III, D-I
(4) A-IV, B-IL, C-III, D-I

1[Option ID=4585]
2[Option ID=4586]
3[Option ID=4587]
4[Option ID=4588]

Sl. No.55
QBID:18753830

The mimimum number of 2-mput NAND gates required to implement the Boolean
function /-alc assuming that A. B and C are available as input 1s

(1) Two

(2) Three

(3) Five

(4) Six

il BT z-aBc DI AF] DA & A7 HH F $H =T & {9 2- FU NAND
ERI (T12) I ATaRGHd1 Bl & 9@ JH FT 8, g A, B 3R ¢ Faw gl

(1) &I
(2) dH

(3) gig
(4) &:




1[Option ID=4593]
2[Option ID=4594]
3[Option ID=4595]
4[Option ID=4596]

SI. No.56
QBID:18753831

The logic realized by the circuit shown is

— 1 axi
MUX F
1% 5 So
A 2]
(1) F=AG=C
(2) F=A@®C
3) F=B:C
(4) F=BxC

few o ufvoy § &9 91 98 i @fiard) sare?

C—/— 1,
— L 4a
; MUX I
C——1, 5 s,
A B
(1) F=AG=C
(2) F=A@®C
3) F=B:C
(4) F=BxC

1[Option ID=4597]
2[Option ID=4598]
3[Option ID=4599]
4[Option ID=4600]

Sl. No.57
QBID:18753832




Convert 0.625,, into its binary equivalent.
(1) 0.101,
(2) 0.111,
(3) 0.011,
(4) 0.100,

0.625, I 39 fg Jed H d&al
(1) 0.101,

(2) 0.111,

(3) 0.011,

(4) 0.100,

1[Option ID=4601]

2[Option ID=4602]

3[Option ID=4603]
4[Option ID=4604]

Sl. No.58
QBID:18753833

The logical expression y=A+AB 1s equivalent to
(1) Y=AB

(2) Y=AB

(3) Y=A+B

(4) Y=A+B

dDEd A yop+zp [P qed 57
(1) Y=AB

(2) Y=AB

(3) Y=A+B

(49) Y=A+B

1[Option ID=4605]

2[Option ID=4606]

3[Option ID=4607]
4[Option ID=4608]

Sl. No.59
QBID:18753834

CMRR for the op-amp i1s

) f T 1.1 O

Vy=1lmV i
d , 0
_,.,-' (EV) 1 P (12 mV)

1

(1) 56dB




(2) 80dB
(3) 60dB
(4) 45dB

op-amp & [T CMRR g

V= 1mV {~}
E "L

(1) 56dB
(2) 80dB
(3) 60dB
(4) 45 dB
1[Option ID=4609]
2[Option ID=4610]

3[Option ID=4611]
4[Option ID=4612]

Sl. No.60
QBID:18753835

The total offset voltage for the following op-amp with input offset voltage. Vig =4
mV and input offset current I;5 = 150 nA. is

A
500 kL2
Sk
"i.,?il VY
L]
/ Vﬂ
5kQ) §
(1) 048V
(2) 0.84V
(3) 0.34V

(4) 043V




ﬁﬂ U op-amp. forgeT fHaw &WW(W faya Vip=4mV IR Faw
3fdad [dggd YRT I = 150 nA B. 1 U1 Hd HBye (3dae) faua a1
BHT?

_—
500kQ
SkQ)
Vil A
&
/ V,
SKQ 3
(1) 0,48V
(2) 0.84V
(3) 0.34V
(a) 043V

1[Option ID=4613]
2[Option ID=4614]
3[Option ID=4615]
4[Option ID=4616]

Sl. No.61
QBID:18753836

The following integrator is to be used to generate a triangular waveform a 500 Hz
square wave connected to mput. If the square wave alternates between + 12V what
minimum slew rate should the amplifier have ?

4.7 kQ
W
| &
.. FF
~LTL 400k h aV,
b P
.-'-/-’-!
370k S

L

(1) =3x10*V/s
(2) =2x10*V/S
(3) =1x10*V/S
(4) >0.5x10*V/S




T 0T IS ad 500 Hz B & aidT 9§ Heiiig avT & Sdad oxdl § | afe
a1 U DTHMA = 12V S §19 J geddl § dl Yadd Bl OH I o gd Ui X
o1 BT -

4.7 kit
et
ik
s, M F
o A —\\\_
5 o O 400k} i av 9
£ T
s

370k 2

(1) =3x104V/S
(2) =2x10*V/s
(3) =1x10*V/S
(4) =0.5%10% V/s

1[Option ID=4617]
2[Option ID=4618]
3[Option ID=4619]
4[Option ID=4620]

Sl. No.62
QBID:18753837

Calculate the off set voltage for the circuit of given figure for op-amp specification
listing I;5 = 100 nA.

150k
Py

2 kil .,

I :I—
\TE
=
o

o

(1) 25mV
(2) 15mV
(3) 1.5mV
(4) 2.5mV




LRI op-ampﬁﬁﬂwmﬁlm =100 nA B HTHIC (\ﬂ?‘hﬁ) faya 31 Sifow

1500k
St

2 ki: .,

(1) 25 mV
(2) 15 mV

3) 1.5mV
(4) 2.5mV

1[Option ID=4621]
2[Option ID=4622]
3[Option ID=4623]
4[Option ID=4624]

Sl. No.63
QBID:18753838

Determine the output voltage of an op-amp for input voltages of V;; = 150 uV and
V> = 140 pV. The amplifier has a differential gain of Ad = 4000 and the value of
CMRR 1s 100.

(1) 45.0mV

(2) 38.8mV

(3) 458 mV

(4) 425 mV

IGLRIE op-amp faw fava Vi1 =150 pv AR Vi, =140 pv 31 frfg faya g1d
Hifoie | afe yade &1 faudl afer Ad = 4000 3R CMRR HTHM 100 |

(1) 45.0mV

(2) 38.8mV

(3) 458 mV

(4) 425 mV

1[Option ID=4625]

2[Option ID=4626]

3[Option ID=4627]
4[Option ID=4628]

Sl. No.64
QBID:18753839




In the circuit shown using an 1deal op-amp the 3 dB cut-off frequency (in Hz) 1s

10 kLl 10 kL) "\\\
Vi S oo .
=Wy
0.1 pgF —— +
: -
L~
i A
10 ka2 10 k2
(1) 159.5Hz
(2) 162.3Hz

(3) 159.15Hz
(4) 120.15Hz

f&u T givay &, TF 3MMef op-amp FT UAN - W 3 dB 3id® SGfd H1 A
1 g1 2

10 kL2 10 kL) [~
V; e VW M
S—T—=V,
0} pE—=— o
|~
A Sy
| 10 kL0 10 kL2
(1) 1595 Hz
(2) 1623 Hz

(3) 159.15Hz
(4) 12015 H=

1[Option ID=4629]
2[Option ID=4630]
3[Option ID=4631]
4[Option ID=4632]

Sl. No.65
QBID:18753840

An ideal op-amp 1s an ideal

(1) Voltage controlled current source
(2) Voltage controlled voltage source

(3) Current controlled current source
(4) Current controlled voltage source

Udh 3Magl op-amp, UPH e gl
() faya il faggd eRTHE B
@ favq Fafafove @A gl

3) fagga yrT FEfd fagga yRT Ad g1




(49) fagga uRT FEifEd fava |id g

1[Option ID=4637]
2[Option ID=4638]
3[Option ID=4639]
4[Option ID=4640]

Sl. No.66
QBID:18753841

‘ 1l n=1, -2 0
The discrete-time signal its x{n)={ -1 n=1., 2 then x| +3] is -
0, mn>2
xin+3)
oo Q
-3 3
w ||| '
3 2 - i l
xin+3)
o o-"77771
2) | J 2 -1
5 4 3 l i &
<+ -1
x{n+3)
Y,
(3) i P T ‘
l l TR
o Xin+3)

.;].D
4
”T 4
3

{ = l l =
W

1
Liq:' EHH‘:I"':I -gHY m‘Hﬂ xl:r]']: ‘ -1 n:1= 2 (_—Ia- x[n_'_}l a’?[]:”qaj-”-

0, n>=2

(1)




xin+3)

3 ==

L

xin+3|
- e
(2) | J-J 5
5 4 -3 l i
4 -1
xin+3)
o O
o oy |11
l l 1 2 3
o Xin4+3)
(4)

= —
o
Lya ——0

k2

1[Option ID=4641]
2[Option ID=4642]
3[Option ID=4643]
4[Option ID=4644]

(4

Sl. No.67
QBID:18753842




Match List I with List IT ;: Match time domain and their Fourier transforms.

List] List II

A %h) L | S{w—w)
B. El%w) I | = lrﬁ (w—w,)+6 (w—w{:,)]

C. | cos wy Im. | & (.:.)

D. || sin wy IV, f?rlﬁ (w +wp ) — 66 (w +Wﬂ)]

Choose the correct answer from the options given below :
(1) A-IL B-IIIL. C-IV, D-II
(2) A-IIL B-I. C-IV, D-II
(3) A-IIL B-I. C-II. D-IV
(4) A-L B-III C-II. D-IV

1 1S 1Y Yl 11 1 e Pifoe:
HYEH B 399 BIRIR TYid & 91y [HeT &4 |

BELR! ool I
A %h) L | 6{w—w)
B. gl%w) IL w[ﬁ(w—wc,)—l—ﬁ(w—wﬁ)]

C. || cos wy Im. | & (-n:]
D. | sin wyr IV | [ #[8 (@ +uwo) =68 (w+wo)
i feu U famedl H ¥ Yet 3t &1 94+ Hifolt:

(1) A-L B-IIL. C-IV. D-II
(2) A-IIL B-1. C-IV. D-II
(3) A-IIL B-I. C-II. D-IV
(4) A-L B-IIIL C-II. D-IV
1[Option ID=4645]
2[Option ID=4646]

3[Option ID=4647]
4[Option ID=4648]

SI. No.68
QBID:18753843




Match List I with List IT : (Laplace Transform Pairs)

List I List IT
A befar) 1. as Xis)
B. |xita) 1. Y (5-a)
[C.  [e* xit) . |2 X (5)
d L |s
D. —|ax [t V. —x|-|a=0
dr[ ( )] a l|a

Choose the correct answer from the options given below :
(1) A-III B-II. C-1. D-IV
(2) A-IV. B-IL. C-I. D-III
(3) A-II. B-IV. C-IIL., D-I
(4) A-IV. B-III C-II. D-I

=1 1S 1Y Al 11 DT e SIS (@ 9idi g )

ol Ll
A fefar) I as Xis)
B.  |x(ta) 1. Y (5-a)
IC. .e‘H x(t} [11. |E_:aXfEJ
d 1 [s
=i fau U fadedl § ¥ TEl SR &1 9094 BHifeiu:

(1) A-IIL B-II. C-1. D-IV
(2) A-IV. B-II. C-1. D-III
(3) A-II. B-IV. C-III. D-I
(4) A-IV. B-IIIL. C-II. D-I
1[Option ID=4649]
2[Option ID=4650]

3[Option ID=4651]
4[Option ID=4652]

Sl. No.69
QBID:18753844

The impulse response of an initially relared linear system is ¢ u(f) . To produce a
response of e~ u(z) the input must be -
(1) 3e'u (t)
1 -3t
(2) -eult)
3
(3) e “uft)

(4) - ety [r)




ol Yl fifs (el Réoars oo Riees) 3 Mg o gfpar e u ()
resu(s) SFRPTT VT R 3 v g P € 0

(1) 3euft)

(2) %e‘::u(r}

(3) e uff)

(4) t-eufl)

1[Option ID=4653]
2[Option ID=4654]
3[Option ID=4655]
4[Option ID=4656]

Sl. No.70
QBID:18753845

If a system has some roots with real parts equal to zero. but none with positive real
part. then system is -

(1) Marginally stable
(2) Relatively stable
(3) Absolutely unstable

(4) Absolutely stable

af¢ fodl Mo & ardide YRl & |1y $© ofl YA § IR gAdS ardidd
YT & 1Y Bl ot Tl & a9 Fem Fgff@ad I sargm -

(1) IUid 't (BR)
(2) 3U&THd Wil (RR)
(3) gUiaal 3R

4) guiaal R

1[Option ID=4657]
2[Option ID=4658]
3[Option ID=4659]
4[Option ID=4660]

Sl. No.71
QBID:18753846

The open loop transfer function of a unity feedback system

_ K(s+4)
e

The range for which (positive values of K) the closed loop system will reain stable
18 -

1) 1<=K<3




2) 2
(2) Z{K*:?r

3) =K<=

(4) ;ﬂiKﬂim
forst Ui qAfHax g &1 ga are Sfdfid e ©

K(s+4)

e

dq U M /™ &1 URER (39) (K & 991D |19 & [10) J1d B forg & fog
g% (U= BT -

1) 1<K<3
2

(2) -<Kk<3
4

3) =K<

2

1[Option ID=4661]
2[Option ID=4662]
3[Option ID=4663]
4[Option ID=4664]

Sl. No.72
QBID:18753847

Match List I with List IT : Match the vectored interrupts with the adobes

ListI List IT

A TRAP L. 002 CH
B. RST 7-5 I1. 003 CH
C. RST 6.5 ITL. 0024 H
D. RST 5.5 IV. 0034 H

Choose the correct answer from the options given below :
(1) A-II. B-IIL C-IV, D-I
(2) A-II B-L. C-II. D-IV
(3) A-II. B-I. C-IV. D-III
(4) A-III B-II. C-IV. D-I




i 1S 1Y Gl 11 D1 A Difore:

daex ScX¥ (1S USIE & 1Y e e

Rl g

A TRAP I 002 CH
B. RBST 7-5 I1. 003 CH
C. RST 65 L. 0024 H
D RST 5.5 IV 0034 H
= f¢U 70 [dd el § 9 Yol 3R O 94 HIflu:

(1) A-IL B-III. C-IV. D-I
(2) A-IIL B-I. C-II. D-IV
(3) A-II. B-1. C-IV. D-III
(4) A-IIL B-II. C-IV, D-I
1[Option ID=4665]
2[Option ID=4666]

3[Option ID=4667]
4[Option ID=4668]

Sl. No.73
QBID:18753848

Match List I with List IT : Match the number of machine cycles required to execute
the instructions

ListI List IT

A LHCD 2050 H L. 4
B. LDA2050H II. 1
. LX1H. 2050 H IMI. 3
D XCHG V. 3

Choose the correct answer from the options given below :
(1) A-IIIL B-IV. C-I. D-II
(2) A-L B-IIL C-IV. D-II
(3) A-IV. B-III. C-II. D-I
(4) A-IV. B-1. C-III. D-II




I 1 1Y G 11 DT e SIS

el & &1 7Y 9] HISMaRgH SBd & I [Ha— Hi |
REl RElh

A LHCD 2050 H I 4

B. LDA 2050 H 11 1

C. LX1H, 2050H 111 3

D W CHG v 5

=14 feu U fae el o ¥ Tel 3 &1 994 Sife:
(1) A-IIIL B-IV. C-I, D-II

(2) A-L B-III. C-IV, D-II

(3) A-IV. B-III. C-II. D-I

(4) A-IV. B-1. C-III. D-II

1[Option ID=4669]

2[Option ID=4670]

3[Option ID=4671]
4[Option ID=4672]

Sl. No.74
QBID:18753849

A
9 F
A3
CHIP 1 CHIP 2
256 bytes - Cs
MY Cs R 256 bytes
As B
Ag

What is the memory range (address) represented by chip 1.
(1) 0100-02FF
(2) FDO0OO - FDFF
(3) Fo00 - FAFF
(4) FDOO - FEFF




Ag
ASZD W

CHIP 1 CHIP 2
256 bytes cs
Sl Cs R 256 bytes
As
Ag E

Chip 1 §RT SRI1AT 77 Ffa (HHRT ¥67) URER (9aT) 991 gH1 2

(1) 0100-02FF
(2) FDO0O - FDFF
(3) F900 - FAFF
(4) FDO0OO - FEFF
1[Option ID=4673]
2[Option ID=4674]

3[Option ID=4675]
4[Option ID=4676]

Sl. No.75
QBID:18753850

In a source free region in vacuum. if the electrostatic potential 18 ¢ = 2x* + 12 + ¢ 2°

. Then the value of constant C must be

(1) 3

(2) -5

(3) -3

(4) -2

Liﬂ?@ﬁﬁﬂﬁ Qﬁﬁﬁﬁfﬁﬁﬁ@ﬁlﬁ ¢=2x3+}.-3+521%.fﬁf@f{;|$[.‘aﬂ
o9 1 g 2

(1) 3

(2) -5

(3) -3

(4) -2

1[Option ID=4681]
2[Option ID=4682]
3[Option ID=4683]
4[Option ID=4684]

Sl. No.76
QBID:18753851

The intrintic impedance of copper at high frequencies is
(1) Purely resistive
(2) Purely inductive

(3) Complex with a capacitive component




(4) Complex with an inductive component
3= HTGfd R did Bl ol Yidaren a1 ghfl 2
(1) g vl

(2) g WD

(3) TuIiA Ued & gy giefgg
(4) TR Yeh & 9y Iiiga

1[Option ID=4685]
2[Option ID=4686]
3[Option ID=4687]
4[Option ID=4688]

Sl. No.77
QBID:18753852

Two conducting spheres S; and S, of rooling a and b (b > a) are placed far apart.

They are connected by a long thin conducting wire. as shown in figure.

S

8,
Radms b C\ wire Radius a
L / *

The potential and surface electric field on Sy are V, and E, and that for S, are Vi,
and Ey, respectively. when some charge is placed on them. Which of the following

statement is correct.
(1) V,=V,andE, <E,,

(2) V,=Vyand E, =Ey
(3) V,»Vyand E, > Ey
(4) V,=V,andE, = E,




&l aad a8, AR S, DI P01 BT a 3R b8 (b>a) DI, TH R Y
e G R I@ AT |

aﬁ:ﬁ%ﬁﬁﬁ e Gl Udel! G dR 9 Gifs] offdl g o f3u 7 fo & <2ifan
gl

5"‘\
B h('f,—\ /_\\ﬁTtlT a
o) </

fag 3R deii faqgd &9 s, WV, 3R E, e qUlS, WV, 3R E, T | A 37
R Plg G TG WY d HEfaRad 3§ 4 S 91 5yE 981 87

(1) V,=V, AR E,<E,
() V,>V, dRE,=FE,
(3) V,>V, 3RE,>E,
4) V,=V, AR E,>E,

1[Option ID=4689]
2[Option ID=4690]
3[Option ID=4691]
4[Option ID=4692]

Sl. No.78
QBID:18753853

The electric ficld strength at a pont *A’ due to a point charge +q. located at the
origin 18 100 pv/m. If the point charge 1s endorsed by perfectly conducting metal
sheet sphere whose centre is at the origin, then the electric field strength at the
point ‘A’ outside the sphere becomes.

(1) =100 p V/im

(2) zero

(3) 100 u Vim

(4) 50 uV/m

U fdig SM1a +q S Ho fdg U= @1 7491 §, & SRUT g ‘A’ R faggd &9 &l
nﬁmmm.m%luﬁﬁga{ﬁmﬁw@h s Tie & YR @M &Y
[or a1 = 4 [dg § dd fdggd &7 &1 3 fdg A TR I1Td & €IeR T BRI ?
(1) =100 p V/im

(2) A

(3) 100 p Vim

(4) 50 uVim




1[Option ID=4693]
2[Option ID=4694]
3[Option ID=4695]
4[Option ID=4696]

Sl. No.79
QBID:18753854

If a right — handed circularly polarized wave is incident normally on a plane
perfect conductor. Then the reflected wave will be

(1) Right — handed circularly polarized

(2) Left — handed circularly polarized

(3) Elliptically polarized with a tilt angle of 45°

(4) Horizontally polarized.

afe; U aféromact IR gfdd 7 @1 63 aaddia qoid: gardae &
3ifireie R SATaferd farar STd § ol TRrafdd a1 giit 2

(1) fgomadl uReERT yiad

(2) dHadl IREERT yfdd

(3) Sy 4fdd 45° & BT R
@) &fds gfad

1[Option ID=4697]
2[Option ID=4698]
3[Option ID=4699]
4[Option ID=4700]

Sl. No.80
QBID:18753855

The polarization of wave with electric field vector

E = E,g"#l

—+ — .
ﬂ'x‘i‘ﬂ';r] 18 -
(1) Linear

(2) Elliptical

(3) Left hand circular
(4) Right hand circular

&t 11 T 1 yau forgT fdega dr afew

E= E ) [3 . +EJ]

&1 O T8I 2
(1) I 3W@y

(2) drdgeig




(3) qroad! gieg=rl
(4) Ef&umad gREaR]

1[Option ID=4701]
2[Option ID=4702]
3[Option ID=4703]
4[Option ID=4704]

Sl. No.81
QBID:18753856

Which filter 1s a de-emphasis filter in FM recerver
) v, § Ve

| !

imn

3) v. % 1E"'?Dut

4) V. L v

in e out

Fafafad 8 @ o= a1 des rv ifimg! fouesma Feies g 2
(1) Vin ;"Fnut

| !

—~
N
~
<!
-l

i " out




(3) i

WV i § 1iq"rI:rut

(4) V; E= 15";nut

1[Option ID=4705]
2[Option ID=4706]
3[Option ID=4707]
4[Option ID=4708]

Sl. No.82
QBID:18753857

In BPSK signal detector. the local oscillator has a fixed phase error of 10° , which
deteriorates the SNR at the output by a factor of

(1) cos (80)
(2) cos” (10)
(3) cos” (80)
(4) cos (10)

U9 BPSK Hdvd GUAS H. T WY 3Id Bl fRR @wl ¢ 10° 8. ol SNR
& 70 &1 FafaRad voa® 9 s@ffa @) RS T |

(1) cos (80)

(2) cos? (10)
(3) cos? (80)
(4) cos (10)

1[Option ID=4709]
2[Option ID=4710]
3[Option ID=4711]
4[Option ID=4712]

Sl. No.83
QBID:18753858

If a FM signal S(t) = 10 cos (2x fct) + 4 sin (2 fmt) 1s demodulated with a
trequency diseriminator in the presence of AWG noise. Then the figure of mort of
receiver is

(1) 24

(2) 4

3) 1

(4) 16




gfe AWG TR @1 FUiRUfd I Uh FM Hbd S(t) = 10 cos (2 fet) + 4 sin (2 fmt)
@1 3M1qid fafdaa®x & 91y [dHigaH siar 5. df STS! BT G&di® F18IAT 2
(1) 24

(2) 4

3) 1

(4) 16

1[Option ID=4713]

2[Option ID=4714]

3[Option ID=4715]
4[Option ID=4716]

Sl. No.84
QBID:18753859

A message signal with bandwidth 10 kHz is lower side-band SSB modulated with

a carrier frequency of fc = 200 kHz. The resulting signal 1s passed through NBFM

with a carrier frequency of 100 MHz. The bandwidth of output of NBFM would be
(1) 20 kHtz

(2) 200 kHtz

(3) 10 kHtz

(4) 380 kHtz

U oW Hobd ol Uil - AISTg (§8-9IS1%) 10 kHiz § 3HPI HH UIg €3,
U SSB HIGITd. I8P 3MMfd fo =200 kHtz B |

ISP [piNd Fadvd B NBFM [orga! a1 S1afd 100 MHz § ¥ IR Il §
| NBFM & [0 ® g &1-aISTs (45 -AISTs) 1 81 2

(1) 20 kHtz

(2) 200 kHtz

(3) 10 kHtz

(4) 380 kHtz
1[Option ID=4717]
2[Option ID=4718]

3[Option ID=4719]
4[Option ID=4720]

Sl. No.85
QBID:18753860

Match List I with List IT

List I List II

A |LED L Coherent radiation

B. |LASER I1. Spontaneous emission

C. |APD II. |Current gain

D. |PIN diode IV, |Current controlled resistor

Choose the correct answer from the options given below :




(1) A-IL B-I. C-IV. D-III
(2) A-IL B-II. C-IV. D-III

(3) A-II. B-I. C-III. D-IV
(4) A-L B-II. C-III. D-IV

Yl 1S Iy Gl 11 DT e DI

REll i

A |LED I [dcr Seg fafdor

B. |LASER I | 3EeH

C. |APD 1L |fdggd 4Ry afe oy

D. |PIN SEIS v [[9ggd YR uieRiY FfEd

= feu U fapedl § T el 3R &l 90+ Hifelt:
(1) A-IL B-I, C-IV, D-III
(2) A-L B-IL. C-IV, D-III

(3) A-IL B-I. C-III. D-IV
(4) A-L B-II. C-III. D-IV

1[Option ID=4725]
2[Option ID=4726]
3[Option ID=4727]
4[Option ID=4728]

Sl. No.86
QBID:18753861

The zener diode in the regulator circuit shown below has a zener voltage of 5.8 V
and zener knee current of 0.5 mA. The maximum load current drawn from the
circuit ensuring proper functioning over the mput voltage range between 20 to 30

volts 18
1000 €2
P "
¥ V.= Load

20-30V 55yl

e

3¢

»

(1) 23.7mA
(2) 14.2mA
(3) 13.7mA
(4) 24.2 mA




ferm Foae ooy e o R SMs $ O R fgUd FT A =58 Ve 3R
FHP SR Al (knee) [AGd YRT BT HA = 0.5 mA § | Ii0d SRI-G0- &I gHiEd
B & g, (awr fdua ot (39 ) 90fl 20 - 30 diee §IF W Howd 715 siftioay
s fayd YRT &1 0 JId SIS |

1000 £
A »

V.= V.=

1

T TET A W,
(1) 23.7mA
(2) 142 mA
(3) 13.7mA
(4) 242 mA

*

1[Option ID=4729]
2[Option ID=4730]
3[Option ID=4731]
4[Option ID=4732]

Sl. No.87
QBID:18753862

The function of shunt in an ammeter 1s to -
(1) By pass the current

(2) Increase the sensitivity of the ammeter

(3) Increase the resistance of ammeter
(4) None of the above

% THieR # gic o1 o FRafafad @
1) fdqgd YT &1 3quy=

(2) THICI & GAed BI ST

(3) THICR & UioRiY &l @M1

(4) ®ig i el

1[Option ID=4733]
2[Option ID=4734]
3[Option ID=4735]
4[Option ID=4736]

Sl. No.88
QBID:18753863




The material used to msulate the segments of commutator 1s
A. Fibre glass

B. Plastic
C. Silicon
D. Mica
H.: PV

Choose the correct answer from the options given below :
(1) Aonly
(2) D only
(3) Bonly
(4) CandD only

o1 [aFTg® & @s! &l Ay B & foy Fafiigd gerd &1 g gl e |
A. dq D1 (BTSSR TAH)

B. WIedH

c. Rifee

D. HIg®I

E.PVC

= fau e fa el § 9§ Hel SR &1 99 SIfWiE:

(1) &Had A

(2) $gd D

(3) $dd B
(4) Fagd c AR D

1[Option ID=4737]
2[Option ID=4738]
3[Option ID=4739]
4[Option ID=4740]

Sl. No.89
QBID:18753864

Give below are two statements : The characteristics of a power signal is / are
Statement I : Power signal 1s mfinite
Statement IT : A periodic signals are power signals.
In the light of the above statements. choose the most appropriate answer from
the options given below.

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II 1s correct




T2 S ey fRu U §: 9fdd dd ot fodwant €1
PU-I : Tfdd Gobd EfifEa g
Y11 - IfGd Toba. 3FEd Shd & |

IURIGd HYUYH & HATdlD |, Aid [GU U [dbedl T 9 Gal 3R &1 I9g- IfoIu:
(1) HYA-I 3R HYA-11 I T &

(2) BYAI 3R BYA-I T ST &

(3) PHYF-1 T 8, A HY-I1 3T &

(4) BYF-I 3 . Afpd PYF-11 T ©

1[Option ID=4741]
2[Option ID=4742]
3[Option ID=4743]
4[Option ID=4744]

Sl. No.90
QBID:18753865

Ny quest plot for the transfer fine G (S) = (4+8S) for positive frequencies has the
form

Jw
1
(1) /I\
4 &
Jw
j4
(2)
a
J
3) 1/4
N
e A ¥
J




[T U SIART BEH G (S) = (4+S) BT YATHD G & [T AT g
BEINIEsE IR

j
A 1
(1)
4 &
J
Jj4
(2)
a
Jw
3 i
3) 1/4
AN
(.
Jw

1[Option ID=4745]
2[Option ID=4746]
3[Option ID=4747]
4[Option ID=4748]

Sl. No.91
QBID:18753866

Phase angle of the P/D controller at high frequencies is (as frequency approaches
infinity)

(1) «w

(2) 90°

(3) —90°

(4) 180°

P/D (H0® 1 3= g IR Byl BV &1 G (GI-0id 3gRT 3-d B 3R
Tgd 8) 2

(1) =

(2) 90°

(3) —90°

(4)




180°

1[Option ID=4749]
2[Option ID=4750]
3[Option ID=4751]
4[Option ID=4752]

Sl. No.92
QBID:18753867

Which 1s not a property of an LTI system?
(1) Invertibility

(2) Unstable
(3) Causality

(4) Causal and stable

FeffaadIsA e L Fem e U =g € -

(1) GhHTOIdI

(2) IR
(3) PIRUI]

(4) BRUTAS AR AR

1[Option ID=4753]
2[Option ID=4754]
3[Option ID=4755]
4[Option ID=4756]

Sl. No.93
QBID:18753868

The transfer function of PID controller 1s
R g 8

5

S
K:S*+KpS+Kp
AT T

Ay

3
K52+ K5 +K;
PID (09 &1 siaRkd wa- s |
ES2 LRS- K

S

3
K8+ KpS+Kp
K8 K+ K,

5
(4) 5

K82+ K85+ K;

(1)

(2)

(3)

(4)

(1)

(2)

(3)




1[Option ID=4757]
2[Option ID=4758]
3[Option ID=4759]
4[Option ID=4760]

Sl. No.94
QBID:18753869

The projection of vector 4—2;-3 ;4 6k onvector p_;, 2742k 18-

(1) 85
(2) 8/3
(3) 87
(4) 89

L a3 706k PIURT 5 ;pr5u0k RUETE-

(1) 8/5
(2) &/3
(3) &/7
(4) 8/9
1[Option ID=4761]
2[Option ID=4762]

3[Option ID=4763]
4[Option ID=4764]

Sl. No.95
QBID:18753870

Give below are two statements :

Statement I : In delta modulation. the slope overload distortion can be reduced
by reducing the step size.

Statement II : In delta modulation, the slope overload distortion can be reduced
by inereasing the step size.

In the light of the above statements. choose the most appropriate answer from
the options given below.
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT 1s correct

PYA-1 : Sl HIgaSH B, grd YR fadid § HHl. I eR § o8l $d
@ o W 5

DYA-I1 : Scel HigaeH 0. gld IR faeid ¥ &ul. 9o R 1 gig
BB B ol Jbell g |

SWRIG DY & el T, 19 fSU T fde el ¥ ¥ g Iuged 3k &l 994
EIE I:




(1) HY-1 3R HY-11 S 981 &

(2) PHYA-I 3R FYF-I1 SH1 7Tad &

(3) HYA-1 ol % i HYA-11 TTad %"
(4) BYA-17Ad 8, A PY--11 Gl ©

1[Option ID=4769]
2[Option ID=4770]
3[Option ID=4771]
4[Option ID=4772]

SI. No.96
QBID:18753871

A transmission line of characteristic impedance 50Q 1s terminated by a 502 load.
When excited by a sinusoidal voltage source at 10 GHz. the phase difference
between two point spaced 2 mm apart on the lines i1s found to be n/4 radians. The
phase velocity of the wave along the line 1s

(1) 0.8 =108 m/'s

(2) 1.2 %108 m/s

(3) 1.6 x 10°m/s

(4) 3.0 = 103 m/s

U5 SR dig- forga! fafy ufdaren soq g Sk oY 99— ta s0Q &
s 9 gid1 5. 39 9@ Us waidh1g fdyd 9id forges O 10 GHz 5, 9 3aford
mﬁﬂ?ﬂ% m:d 2 nuuﬁr—gﬁq?@ﬂﬁﬁg@ﬁ$a‘lﬂﬁaﬂmﬂm%
dl a7 1 Uyl a¥1 TeR] A5 H 941 8111 2

(1) 0.8 x 103 m/s

(2) 1.2 = 10%m's

(3) 1.6 x 10° m/s

(4) 3.0« 10%m/s

1[Option ID=4773]
2[Option ID=4774]
3[Option ID=4775]
4[Option ID=4776]

SI. No.97
QBID:18753872

The electric field component of a time harmonic plane EM wave travelling in a
nonmagnetic lossless dielectric medium has an amplitude of 1 V/m. If the relative
permittivity of the medium is 4, the magnitude of the time-average power density

vector (in w/m?) is :

(1) .
30
1
(2)

60T
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0% 1Y GTe] G fagqd e T8 Sl TP Saa TeRied
iy T 79 R Il § | a1 1 fdggd &4 U DI UMM 1 vim §
Hﬁmmﬁ&ﬁmﬁwﬁamﬁﬁwmﬁﬁwmﬁ
A 18I 2 (w/m~ fﬁ
1
0
1
60

(1)

(2)

(3)

120x

(4) 57

= s

1[Option ID=4777]
2[Option ID=4778]
3[Option ID=4779]
4[Option ID=4780]

Sl. No.98
QBID:18753873

A lossy transmission line has resistance per unit length R = 0.05 Q/m. The line 1s
distortionless and has characteristic impedance of 50Q2. The attenuation constant
(Np/m) of the line 1s :

(1) 0.01 Np/m
(2) 0.001 Np/m
(3) 0.1 Np/m

(4) 0.005 Np/m

UG T 0T A1 &1 Wil Uid A& T3S R = 0.05 Q/m ©] a5
%ﬁ—eﬂq%aﬁ?wﬁmuﬁmmm %Ifﬁﬂﬁqﬁ&ﬂﬂﬁwfﬂ

(1) G.Dl Np/m
(2) 0.001 Np/m
(3) 0.1 Np/m
(4) 0.005 Np/m
1[Option ID=4781]
2[Option ID=4782]

3[Option ID=4783]
4[Option ID=4784]

Sl. No.99




QBID:18753874
The return loss of a device 1s found to be 20 ds. The Voltage Standing Wave Ratio
(VSWR) and magnitude of reflection coefficient are respectively.

(1) 1.22 and 0.1
(2) 0.81 and 0.1
(3) —1.22and 0.1
(4) 2.44 and 0.2

U& U9 &1 IRIadH® g1+ &1 T 20 dB § | U [a4d SO a1 S91d
(VSWR) 37 GRTacH Ul &1 A o1 81T 2

(1) 122 3R 0.1

(2) 0.81 3R 0.1

(3) —1.22 3R 0.1

(4) 2.44 3R 0.2

1[Option ID=4785]
2[Option ID=4786]
3[Option ID=4787]
4[Option ID=4788]

Sl. No.100
QBID:18753875

Match List I with List IT

List I List IT

A (Dipole antenna I |Isotropic

BE. |Dish Antenna II. |[Highly directional
C. |Yagi-Vda antenna 1I1. |End-fire

D. |[Point electro magnetic source IV. |Radiation resistance

Choose the correct answer from the options given below :
(1) A-IL B-III. C-II. D-IV
(2) A-II. B-I. C-III. D-IV
(3) A-IV. B-II. C-III. D-I
(4) A-IIL B-IV. C-I. D-II




i 1S 1Y Gl 11 D1 FHeH Difore:

Rl Tl 11

A |fEya o= L [gHeR®

B. [[E=u= I |3 fexmEs
c. |gnft-Farg= m. |srgeed

D. |fag faegd 9= did V. |fafeseor uicRiY

Ad feu U faedl § ¥ el 3R &l 9g+ Hifolu:
(1) A-L B-IIL C-1I. D-IV

(2) A-IL B-I C-IIL. D-IV

(3) A-IV, B-IL, C-III, D-I

(4) A-IIL B-IV, C-I, D-II

1[Option ID=4789]

2[Option ID=4790]

3[Option ID=4791]
4[Option ID=4792]




